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i e & = 1LCC 38 38 16 0.0/ 76.0
EF KA 500 40 36 16 0.0 76.0
FEKR FIA 37 1LGC 38 38 16 0.0 76.0
M RS SR TEECC 39 38 11 0.00 71.0
LtH FIE ARECC 40 317 11 0.00 71.0
Bft #e J\ECC 40 317 11 0.0 71.0
I |&H FAER J\ECC 38 40 18 0.0 78.0
O K #UZERRCC 43 35 18 0.0 78.0
fH $#Hth JGA 40 38 18 0.0/ 78.0
106 |+ Fi J\ECC 40 39 79 0.0 79.0
i &4 ALliA A1) F7CC 40 39 19 0.0l 79.0
tiF #EX AP R 37 42 19 0.0 79.0
Nt 2 ERRCC 39 40 19 0.0l 79.0
146 18I k& ELTESK 43 317 80 0.0/ 80.0
&HhE T JK B CC 4 39 80 0.0/ 80.0
R E— ALLA A1) FCC 38 42 80 0.0/ 80.0
B K 32 1LGCC 42 38 80 0.0/ 80.0
TH FH AEDACC 40 40 80 0.0/ 80.0
WE (Eth 32 1LGC 40 40 80 0.0/ 80.0
204 |k PEAER EFICC 41 40 81 0.0/ 81.0
H¥ thE 32 1LGC 40 41 81 0.0/ 81.0
NI SFkE = 1LCC 39 42 81 0.0/ 81.0
BE EX 1= ] B e A 4 40 81 0.0 81.0
2461 | EFH BE = 1LCC 42 40 82 0.0 82.0
EH ik 32 1LGC 40 42 82 0.0 82.0
Lt RE f#IZEFRCC 42 40 82 0.0 82.0
Mo EE 3Z1LCC 4 41 82 0.0 82.0
280y BE BT 3Z1LCC 42 41 83 0.0 83.0
SH Al Z11CC 40 43 83 0.0/ 83.0
RE HEER 3Z1LCC 42 41 83 0.0/ 83.0
HME EE KEDECC 44 39 83 0.0/ 83.0
Bl XA TEECC 38 45 83 0.0/ 83.0
SRHE R TEECC 42 4 83 0.0/ 83.0
it #S AA A1) FCC 43 40 83 0.0/ 83.0
afy 88X 1200 43 40 83 0.0/ 83.0
BAh 4% JGA 45 38 83 0.0 83.0
An ERE =04 4JLGC 42 41 83 0.0/ 83.0
B8 | KE FX 2 EFRCC 44 40 84 0.0 84.0
ZEH HER KEDECC 40 44 84 0.0/ 84.0
tiE EX JEpEXRE 45 39 84 0.0 84.0
K5 {E—HB ZERGORA/JGANYT 134y7 B2 42 42 84 0.0 84.0
=g 37 LGC 45 39 84 0.0 84.0
fERAR 4E# ELVTASEK 41 43 84 0.0 84.0
4t FB+E KIE ELE—SK 45 40 85 0.0/ 85.0
BR - J\ECC 44 41 85 0.0/ 85.0
EIH Ml ARECC 42 43 85 0.0/ 85.0
4761 | HHF (E8E 3Z1LCC 43 43 86 0.0/ 86.0
an B BHKRE 41 45 86 0.0/ 86.0
ME @ E1LCC 44 42 86 0.0/ 86.0
RE H— 200 45 41 86 0.0/ 86.0

IE 43z AR (il ouT IN GROSS | HDCP | NET
5161 | HAX =) = 1LCC 46 41 817 0.0/ 87.0
L R ARECC 46 41 87 0.0/ 87.0
E# &E = 1LCC 44 43 87 0.0, 87.0
TR e fIZEFRCC 46 41 87 0.0/ 87.0
=i E% KRilih A1) F7CC 45 42 87 0.0, 87.0
EH KA = 11CC 45 42 87 0.0/ 87.0
516 |Bll %= ARiliA A1) F7CC 46 42 88 0.0/ 88.0
sH % KILA A1) FCC 48 40 88 0.0/ 88.0
FH o 3711CC 44 44 88 0.0/ 88.0
ILE BE TEECC 42 46 88 0.0/ 88.0
611 |f2or BHE S FCC 45 44 89 0.0/ 89.0
X5 F— ARECC 48 41 89 0.0/ 89.0
2R A& GCIT—JLRIL Y 49 40 89 0.0/ 89.0
hE B = 1CC 44 45 89 0.0/ 89.0
Bl fEH 3211CC 41 48 89 0.0/ 89.0
WA AR = 1LCC 44 45 89 0.0/ 89.0
674 /MR KB EFICC 45 45 90 0.0/ 90.0
=i B 3L 1LCC 44 46 90 0.0/ 90.0
FH 2 KEDAECC 43 47 90 0.0/ 90.0
RE SF 1MZCC 45 45 90 0.0/ 90.0
K H— = 11CC 45 45 90 0.0/ 90.0
BE —% 3L 1LCC 42 48 90 0.0/ 90.0
ZH B 3211CC 46 44 90 0.0/ 90.0
T4 8RR fIZEFRCC 47 44 91 0.0 91.0
56 R #BA EFICC 46 46 92 0.0/ 92.0
RiE ZH E JCC 47 45 92 0.0 92.0
& RRE F2GC 46 46 92 0.0/ 92.0
My mE BEECC 50 42 92 0.00 92.0
1960 BEH M2 TEECC 51 43 94 0.0/ 94.0
WE  EER = 1LCC 45 49 94 0.0f 94.0
816 |IUTF  Hf& MZCC 50 45 95 0.0/ 95.0
HE OB = 1LCC 48 47 95 0.0/ 95.0
83 BB EXK EEDAECC 48 48 96 0.0/ 96.0
At F KEDECC 47 49 96 0.0/ 96.0
85fu |FaH HRE F2GC 50 52 102 0.0/ 102.0
K oA 114200 54 48 102 0.0/ 102.0
874 (A ER = 11CC 61 50 111 0.0/ 111.0
R 5 BN HE KiliH 41 7CC
R 5 |EK E = 1LCC
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